C:h Using the Distributive Property of Division Name:

Solve each problem using the distributive property of division. Answers
1) 70+5= 2) 136+8=
- iy 1.
TOo= +8= 2
3.
4,
3) 104=8= 4 65+5=
5.
T 0= ~ o= 6.
7.
8.
5 78+6= 6) 105+ 7= o
T0= ~ (= 10.
) 140+ 7= 8 45+3=
9 57+3= 100 133+7=
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ﬂh Using the Distributive Property of Divisi

on Name. Answer Key
Solve each problem using the distributive property of division. Answers
) 70+5= 2) 136+8= 14
50 +5= 10 80 +8= 10 -
20 +5= 4 56 +8= 7 5 17
3, 13
4 13
3) 104-+8= 4 65+5= i 13
80 +8= 10 50 +5= 10 '
24 + 8= 3 15 +5= 3 6. 15
7 20
8. 15
5 78+6= 6) 105+7= o 19
60 +6= 10 70 +7= 10 '
18 +6= 3 35 +7= 5 10. 19
7 140+ 7= 8 45+3=
70 7= 10 30 +3= 10
70 +=7= 10 15 +3= 5
9 57+3= 100 133+7=
30 +3= 10 70 +7= 10
21 +3= 9 63 =7= 9
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C:h Using the Distributive Property of Division

Name:
Solve each problem using the distributive property of division. Answers
14 13 19 13 20
13 19 17 15 15 1.
1) 70+-5= 2) 136+ 8= 2.
4.
5.
3 104-+8= 4 65+5=
e . 6.
TO0= T o= 7.
8.
9.
5) 78+ 6= 6) 105+7=
- - - 7 = 10.
) 140+ 7= 8 45+3=
9 57 +3= 100 133+7=
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[ M ath ] www.CommonCoreSheets.com 2

1-10 {90]80|70|60[50[ 40| 30| 20| 10] O |




	Worksheet
	Answer Key
	Modified Worksheet

